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Subject: Science

Grade: Second Preparatory
Lesson: Oscillatory Motion

Classrooh" questlons

Choose the qorrect answer:

1- The frequency of oscillating body makes 600 complete oscillations in
half minute is...........HZ  Frequency = no of C.0. \time(sec)

(60— 20 200 — 6000) ,"
2- The result of mulﬂplymg the frequency and the penodm time . ne
(equal — greater than — less than — not equal)
I—ﬁ: r . Tw
3- All the following are oscillatory motion except ............
(Simple pendulum — tuning fork — spiral wire — The rotary bgg)

4- The periodic time of oscillating body its frequency 1000 HZ is......... sec

) |

1 —100—-0.100 - 0.001 - 4
), T=1/F

5- amplithde 5.3 -........... of the complete oscillation

| b3t o02-4-075 —

| by

|=]Bie (@)
Engy Nabil "




777 PR~
m‘ H - - 1..‘. :"""
h‘e scientific term: e aniame o

L —— i S | P

Sy Oscillatory motion

|- The motion of the oscillating body on both sides of its rest position.

2- The maximum displacement of the oscillating body away from its rest

position. Am plitUde

3- The motion the oscillating body as it passes with a fixed point two
successive times in the same diracﬁnn. Complete oscillation
>
A ’
4- Time taken by tbh oscillating body to make one mplct: oscillation.
Perlodlc time

5- The number oi‘ eumplete oscillation in one second.

Frequency

i :
4 e s 19\‘3
B~ ant
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Grade: Second Preparatory
Lesson: Oscillatory motion

Homework

Choose the correct answer:

1) The product of frequency and peri i me =,
a)0 ——lllle |

2) As the speed of a__g_i.'rnplﬁe pendulum increases , its kinetic'ﬁ_anergy
a) decreases - ; b) increases c) doesn’t change

3) The periodic time for a tuning fork makes (180) oscillations in a half minute is
o SeC.

a) 6 b) 1/6 c) 600 d) 60
-—-_" . ‘
4) If the amplitude of a-wbl:ftl'ing string is 2cm so it's Ep’lete oscillation = .......... m
o
a)8 b) 0.08 ; c}DOOS ‘i_di

5) A vibrating spring makes an -ampﬂtﬂdé “o‘!'( 0.1 m ) during one second so it's
periodic time = & / 0.25 /40 /0.4 ) second while it's complete oscillation = (
40 /50 /60/4 Yem

B) one Kilohertz = ........... Megahertz .
a)10” 4 c)10™ d)10™

J
7) Wi Complete Oscillation.
a) c) Quarter d) 4 Times
8) Fl}l €5 = ... periodic time.

Al d)2 =
time of amplitude to the periodic time equal . (’)
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m ) 1:4, c) 4:1 d) 1:2 T |
0 o

HNTAII the [ﬂllowing are units of measuring Frequency except ........

a) Hz b) Hz', c) Oscillation . Sec™” d) cycle/sec

11) If the Frequency of an Oscillating body is (10 Hz ) so, it makes ........... Complete
Oscillation

In one minute,

a) 300 b) 60 £) 600 d) 1000

12) From the figure , when the ball moves from (X toY)

In ( 0.02 sec ) ,the frequency = ........... Hz. x_ \4
a) 0.02 b) 50
) )0 Q25— d | N\

13) The periodic time of a tuning fork makes 240 wave in one minute = ..... second .
- Ve

a) one b)a = «¢1/2 cﬂjﬁ_’ e

14) The Complete Oscillation include .......successive displacement, each of them

called .......

a) two , amplitude b) four , periodic time ¢) fuur,amplituy d) two ,
Oscillation

15) If the periodic time of a,i»‘od-.« (X) is double that of a body (¥) so the ratio between

the frequency (Y) to the frequency (X) s ........ B'

a) 2:1 b) 1:1 12 * B k}‘fn .

 — r §

Write the scientific term Jr/ Engy Nabil

1- The motion which is repeated regularly in equal periods of time.Periodic motion

2-The periadic potion made by the oscillating body around Its rest point where the
m is lrefeate ual intervals of time. Oscillato ry motion

3- time n by the bscillating body to make one complete oscillation . g b
y S g Periodic time

4- num fco e oscillations made by the oscillating body | s secoff:

5- maxifum displacément made by the oscillating body awayfrom jt§ r "qu ney
ositi . {I%

i Amplitude -
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O Because at max displacement -
HGive reason its speed reaches zero

1- The kinetic energy of the oscillating body at the maximum displacement = 0
2- The motion of rotary bee is not an oscillatory motion.

Because it is not repeated at the two sides of rest poipt
3-when the periodic time of the oscillating body increases its frequency decreases

What is meant by Because periodic time and frequency gre

inversely proportional
1-A tuning fork has a frequency of 212 Hz.
Fhis means number of complete ¢ nsclllatinns made in one second is 212 oscillatior|s

2-A body makes 360 Oscillations in one minute. ThIS means its frequency il
Study the following ﬂg“rﬂs I"“" 6 hz ( 6 oscillation /sec)
r

Find the Pariodlc time an equancy?

ifl

& e
onds. T=0.25 X4 =1 sec
o
F=1HZ
2) (X) to (Y) in duration of 0.02 seconds.

T=0.02X2= 0.04 sec
) F=1/0.0.4= 25 Hz
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Subject: Science | B'

Grade: Second Preparatory ﬁ: - ‘@

Lesson: Oscillatory Motion Dr/ Engy Nabil
Week test Questions

Define:

|- Periodic motion '
It is the motion which is regularly repeated in equal time intervals
2-Oscillatory motion '
Itis a periodic motionin which oscillating body movesaround its rest position
3-Simple harmonte motion _
It is the maximum displacement done by the oscillating body

4-Amplitude away feom rest position
It is the motion of oscillating body when it passes

by a fixed point two successive times in the same
6- Periodic time digestian £

Tl'ﬁ'le taken to make one complete oscillation
7- Frequency Number of complete oscillation in one second

5- Complete oscillation

Give reason of the following sentences:
because it is the motion which is regularly repeated in equal time intervals
I-The oscillatory motion is considered as a periodic motion.

bec it is a periodic motjon where it moves around jts rest position
2- The motion o1 tlmmgr?nr 1s considered as an oscillatory motion.

-

e kingtic )cncr of a pendulum is the maximum when it passes its rest
popitpn. because the speed is max at rest point
éliﬂdi tithe * Fr uency = 1

T —
Because periodic time and =
{ frequency are multiplicative
- inverse
 — i
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m Periodic time decreases while i:\ _- ;_
. When? frequency increases T
N]‘:_i_tﬁhcr-qé'-cumplctc oscillations produced by an oscillating object is
ncreases, Concerning to:
1) Periodic time 2) Frequency

What's meant by? This means frequency equals 900\30 = 30

1) The Number of complete osch-llaa%lg? n?a%icl;slflaa g::?lggs }nsgeﬂnd of half
minute is 900 complete oscillations.

2) The time taken by a stretched string to make 120 complete oscillations is
2 minutes.  This means periodic time =120 \120 =1 sec

g Biencer
| Dr/ E_ngy Nabil -

;1“ -
- _L"r

’fﬂ# ault




